1-64

STOCKLIST
i ol 3
7 3| 3
= ol B
[2a] m
Part # Part # G| & _
1 |SFC-2-821 Bar (Gray) 2 17 “ﬂ
2 |SFC-2-821Y Bar (Z-Y) 2 Lyl
3 |CH506211400Y | Bolt, 5/8 X 4 GR5 5 | 5 } R
4 [NHC06211Y Nut, 5/8 Hvy Hex GR5| 5 | 5 N e N
5 |WEC062Y Washer, ETT 5/8 5 5 [E——— U U AU AU\ U -
6 |SFB-1 Cip 10 | 10 o i @ @ @ @ @t 77777777 A

ITEM 1 or 2 \ TEM 6
FINISH NOTES: B\ ﬁ/
_ 7| 21 ——
1) BARS ARE MTP POWDER GRAY / R — | g/ i ] ./
VA e Vi B =1 R Y e DOV
2) BARS ARE ZINC-YELLOW(ROHS) T T LuLuL
ITEM 3,485 —/
) NOTE | PART #
2" BAR FRAMING SPLICE
AT SAME LEVEL (CROSS) 1 | SFB-1-820
GR-1275-CORE 2 SFB-1-820Y
STOCKLIST
Et >
= gl o
E |
o o
Part # Part # G| & Tﬂ/ﬂ’
1 [SFC-2-823 Bar (Gray) 2 | } }
2 |SFC-2-823Y Bar (Z-Y) 2 | } L
3 |CH506211400Y Bolt, 5/8 x 4 GR5 3 3 | | N
7 [NAC06211Y Nut, 578 Fvy Hex GR5 | 3 | 3 -
5 |WEC062Y Washer, ETT 5/8 3| 3 © OO\
6 [SFB-1 Ciip NG & —— 5
LN
ih
P BAR FRAMING(REF)
ITEM 1 or 2 — ITEM 6
q E P w77/7
FINISH NOTES: By —— 7

1) BARS ARE MTP POWDER GRAY ﬁ_m
2) BARS ARE ZINC-YELLOW(ROHS) ITEM3,4&5

NOTE PART #
2" BAR FRAMING SPLICE
AT SAME LEVEL (TEE) 1 SFB-1-822

GR-1275-CORE 2 SFB-1-822Y

<05/08/13>
Moreng Telecom Products
973-237-2001
www.morengtel.com



